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. Find the missing value in the equation :1=342:9

(i) 39 (ii) 36 (iii) 38 (iv) 37 (v) 41

. Find the missing value in the equation24: =30:5

(i) 5 (i) 3 (i) 7 (iv) 4 (v) 1

. Find the missing value in the equation6:1= :9

(i) 51 (ii) 55 (iii) 56 (iv) 54 (v) 53

. Find the missing value in the equation26:1=52:

(i) 2 (i) O (iii) 5 (iv) 3 (v) 1

. Which of the ratios is proportional to 36 : 97
(i) 16:4 (ii) 17:4 (iii)) 16:1 (iv) 15:4 (v) 16:6
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1 4 4
. Find the number which bears the same ratioto 5 that ; does to E

(i) > (ii) > (iii) 3 (iv) 1
9 7 7
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